

Disposable Tableware from

teius

plant product planet

- Made from **annually renewable** sugarcane fiber
- Responsible sourcing
- Vertically integrated from farm to table
- Natural color connotes sustainability
- Tree free
- Kosher certified



Our sugarcane fiber is 100% grown and harvested in South Florida

Florida farmer proud

Tellus is a packaging company based in Belle Glade, Florida. We recycle leftover sugarcane fiber from the sugar milling process and converts it to packaging and foodservice products such as plates, bowls, and take-out containers.

Tellus is a newly launched company, jointly owned by Florida Crystals Corporation and Sugar Cane Growers Cooperative of Florida. Our owners are made up of more than 45 mostly family farms, who have been proud to carefully cultivate sugarcane and vegetables in South Florida for generations. Our farmers not only produce the sugarcane fiber for our eco-friendly products but also the fresh, homegrown produce that fill our plates at your barbecue.

> At Tellus, our products come from the Earth and are returned to the Earth... We just borrow them for a short time.



Technology and Sustainability

Our state-of-the-art manufacturing facility is located adjacent to the sugarcane fields and next to the Cooperative's sugar mill, which means we have minimal shipping and handling, and less strain on the environment. We are also able to trace the origins of our products back to the fields from which they grew. **Our products are 100% grown and made in the USA**.

Our facility runs primarily on renewable biomass power provided from the sugar mill and solar power making it one of the most **efficient and environmentally sustainable manufacturing facilities of its kind**. Our new office building is in the same area and is LEED-certified[®], LEED Silver[®].



LIDS FOR

PLATES

From the plants we grow to the products we create, we consider the impact to our planet in everything that we do. **Tellus...Plant...Product...Planet.**

Put a Lid on it

Tellus flat and domed lids are made in the USA of a minimum of 50% recycled PET and are #1 PETE recyclable. Our lids are completely transparent and seal tight to lock in freshness and flavor—excellent for takeout, delivery and room service.









Tellus Product Description	Tellus Item #	Case GTIN
Tellus Plates		
FS 6" Round Plates 8 125-ct bags; 1000-count	TE10F	10811936030033
FS 9" Round Plates 4 125-ct bags; 500-count	TE01F	10811936030118
FS 10" Round Plates 4 125-ct bags; 500-count	TE05F	10811936030026
Tellus Clamshells		
FS 6x6" Clamshells 8 50-ct bags; 400-count	TE30F	10811936030231
FS 8x8" Clamshells 4 50-ct bags; 200-count	TE25F	10811936030323
FS 8x8" 3-compartment Clamshells 4 50-ct bags; 200-count	TE26F	10811936030385
FS 9x9" Clamshells 4 50-ct bags; 200-count	TE20F	10811936030095
FS 9x6" Hoagie Clamshells 4 50-ct bags; 200-count	TE21F	10811936030392
Tellus Bowls		
FS 12 oz Bowls 8 125-ct bags; 1000-count	TE40F	10811936030101
FS 24 oz Bowls 6 50-ct bags; 300-count	TE50F	10811936030309
FS 32 oz Bowls 6 50-ct bags; 300-count	TE55F	10811936030286
Tellus Lids		·
Domed lids for 24 and 32 oz Bowls 6 50-ct bags; 300-count	TE70F	10811936030347
Flat lids for 24 and 32 oz Bowls 6 50-ct bags; 300-count	TE71F	10811936030354
Domed lids for 12 oz Bowls 20 50-ct bags; 1000-count	TE72F	10811936030361
Domed lids for 9" Round Plates 4 50-ct bags; 200-count	TE73F	10811936030378



www.tellusproducts.com

Manufactured by Tellus Products, LLC, Belle Glade, Florida 33430, Made in the USA

Item TEO1F

USA I Stony

1.05.11936 03011 8